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01 Ml2ZE 6= 19,800 18,600 1,200
OJEASLES0IE 2AH|
30,000& = 30 = 128 10,800
< 4,320
s 6,480
ONBLAEES0tS H=Hl(30AITH)
6,000,000 6,000
< 2,400
s 3,600

OREs0ts 1211XHA HIIAMY K&

600,000& * 1¥ 600
& 240
a 360

OSRF8 gl20ots AMH & (1Y)

2,400,000& 2,400
960
1,440

EUNL

gEa0ts AHEZEHS NS 20,000 15,000 5,000
2,000
18,000

UL

301 etE2H S 20,000 15,000 5,000
2,000
18,000

UL

01 MBI BEEA52 20,000 15,000 5,000
OJ}=9IY S20tS NHPFRS X
00,0008 * 4% 20,000

2,000
18,000

‘U]_l
o

EUNE

QA0S IHEXN A 37,024 21,912 15,112
25,917
11,107

MW

301 LEENZF 37,024 21,912 15,112

25,917
11,107

M

1A 28 6= 37,024 21,912 15,112
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SH: =Ol0iH0tS
=R I= I P

Had 95 U AMSH
ool OlS AFSH X CER-ED
SN BA(SA) - MRAY - BES il HImEET
O16MI0IE A0S LFY 28,800,000& 28,800
= 20,160
[ia 8,640
OFHYL0lEs dEEXS 7,524,000 7,524
= 5,267
s 2,257
O=edI2t 2R XA 700,000& 700
= 490
[ia 210
ALINF XA 6,400 6,400 0
< 2,560
[ 3,840
301 LPEAS 6,400 6,400 0
= 2,560
e 3,840
01 MEIBEE 5= 6,400 6,400 0
O16MI0l & A A0ts LFE+E 5,400,000 5,400
< 2,160
i 3,240
Ogg=ot=a 1,000, 000& 1,000
< 400
[ 600
ANeotsdH 298 XA 566,328 511,900 54,428
= 283,164
< 113,266
e 169,898
307 g1+l & 566,328 511,900 54,428
= 283,164
< 113,266
= 169,898
10 ALSISXAIEEE2EH EX 566,328 511,900 54,428
OXdotsHE 2ZHl X2 (8HA)
566,328,000 566,328
= 283,164
< 113,266
i 169,898
E+=28g Ndotsdy = XN& 14,616 14,616 0
= 7,308
< 2,923
e 4,385
307 glz2+ol & 14,616 14,616 0
= 7,308
< 2,923
s 4,385
10 ALSISXAIEEE2EH EX 14,616 14,616 0
sSas=HY A0ISHE ZIHA
14,616,000 14,616
= 7,308

_54_




2N
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el

el dots
ots - a4
Ols Ad&=4

ni;

SN FH-SA(EN) - MBAY - BES

Off &t 24

=

i
2m

M

2,923
4,385

= NE0tsdE XN

MW

12,420
6,210
2,484
3,726

12,420

307 21201 &

MW

12,420
6,210
2,484
3,726

12,420

10 Al S XA E

=
O2=XNSotSHEH =t A&

12,420,000&

EURL Y

12,420
12,420

6,210
2,484
3,726

12,420

XNSotsdE X

EURLY

97,600

39,160
58,440

58,800

38,800

307 glztol &

EURLY

97,600

39,160
58,440

58,800

38,800

10 M SXNANEEE2SHEX

OXNotsHEH & - Hehdl X2 (8IHA)
12,200,000&

OXS0otsSHEH BAX =2
=

—IJHAEESE 200,000 » 198 = 12&

—Aag(L,54)

100,000& » 192 = 23|

OX<SotsdH =24 XNI& 36,000,000

EUNY VY

Mo

EUNE

97,600

12,200

3,660
8,540

49,400
45,600

22,800
22,800

3,800
1,900
1,900
36,000

10,800
25,200

58,800

38,800

HH A

129,151
64,575
25,830
38,746

114,030

156,121

HH A

129,151
64,575
25,830
38,746

114,030

156,121

03 RIHAZZ2NE >

OO0ts =Xl WA 42,464,320

H

42,465

42,465
21,232

37,344

5,121
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L0014 0HE B
E]

P 0ls Ad=24d I (2 &HH)
(o
CEE O (BA) - HRAY - BAS %Eﬁ HD=2
= 8,493
= 12,740
04 JIZtHIZ2Z2 NS E 86,686 76,686 10,000
Oo0ts=E X DAHELH) 56,526,000 56,526
= 28,263
o= 11,305
= 16,958
O0tsE X D AHAIZHAD) 30,160,000 30,160
= 15,080
& 6,032
= 9,048
OlSYEY XA NXSHHBAEX 40,655 39,053 1,602
= 28,459
& 6,098
= 6,098
301 et A= 40,655 39,053 1,602
= 28,459
= 6,098
= 6,098
01 Al E & A 462 40,655 39,053 1,602
OltSYEYXNAHAI(CIEMAtER) X
40,655,000 40,655
= 28,459
& 6,098
= 6,098
sSA¥ESIA 8,400 6,400 2,000
== 1,280
= 7,120
301 et A= 6,400 6,400 0
== 1,280
= 5,120
12 JIEtE2 &= 6,400 6,400 0
Ootsfd &=l XN
100,0008 = 329 = 23| 6,400
&< 1,280
= 5,120
307 2Iz2to| A 2,000 0 2,000
02 QIZFAB AAIE E X 2,000 0 2,000
Oltsfd Adl X 2,000,000& 2,000
RPN 21,640 36,568 N 14,928
201 LBt Y| 10,080 10,008 72
01 AP 22| d| 8,640 8,640 0
ogdx4 5,040
—OlEREs BHLY
70,000 * 32% « 13| 2,240
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AN L 0otsS

H: Ol - HAW 25 Y AWSH
ool OlS AFSH X CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
== N E RPN,
70,000& = 10¥ « 23| 1,400
—OSSARRE BALY
70,000& = 10¥ = 23| 1,400
O e8| 3,600
— KN0tsdE &2IIE ALY =2
300,000& = 12& 3,600
02 2324l 1,440 1,368 72
Oz22= & HA 1,440
—0tsSE&L9RXE CCTV &Il &
20,0003 = elf » 123 1,440
301 EEMZ 3,560 18,560 A 15,000
09 SAAHIX A S 3,560 3,560 0
OsH& THal AR A 24
50,000& = 20" =« 23| 2,000
OOSSVDSHAT A2
50,000& = 10H = 23| 1,000
OOtsSEX M s FA8I ¢
40,0003 * 798 = 23| 560
307 21201 A 8,000 8,000 0
11 ALS S XAEE = 8,000 8,000 0
Oots0l =g Mol 5,000,000 5,000
OJNERE & MASIHEOS HEES
3,000,000& 3,000
Ots=4 X& 608,175 592,200 15,975
< 223,830
i 384,345
301 LEXZ 608,175 592,200 15,975
< 223,830
s 384,345
01 MEI2EZE+06l= 608,175 592,200 15,975
O0ts=4A X 608,175
— 9 E0ts(220%) 247,500,000 247,500
= 24,750
s 222,750
— 2= (3509%) 179,550, 000& 179,550
< 17,955
s 161,595
— 8| = (350%) 181,125,000& 181,125
< 181,125
NEXEs MIMEA SXAIY (OlsEAH) 111,163 153,216 A 42,053
s 89,202
< 5,955
s 16,006
301 2N = 111,163 153,216 A 42,053
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2H: =0 H0tS
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ot
M ols - HAUW 95 U AWKY
& ots AL XN (&)
(o
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
e 89,202
< 5,955
= 16,006
01 MEI2BZE 05z 111,163 153,216 A 42,053
O0ts - 449l XN AMEIA 111,163,000& 111,163
s 89,202
= 5,955
[ia 16,006
SAHE Y 2,875,700 2,884,700 29,000
< 9,000
i 2,866,700
201 et 10,000 10,000 0
01 At 2teltl 10,000 10,000 0
O+t 9,000
— &2z SHEY g8 3,000,000& 3,000
—ESNEH ¥ 8AE O #HI 253 2E=
X = 6,000,000& 6,000
osgay 1,000
—EBUTY U HEN 28 AALT
250,000& = 43| 1,000
301 gEd = 2,853,700 2,862,700 29,000
= 9,000
s 2,844,700
01 Ml2EZE 6= 2,852,300 2,861,300 A9,000
Otz 3 1,985,000
— XMW otol 2,000,000& * 200 400,000
— =Mool 4,000,000& = 1759 700,000
— ST OLOI Ol &t 885,000,000 885,000
= 9,000
= 876,000
OM3dl HOtIl =dt= 300,000& » 1H 300
O#s0l =ot=2 300,000& * 202t 6,000
OAMOL0l Ol& otsd=E2 XA
200,000&  350H » 12&8 840,000
Osd=ots3 XA 21,000
—ESN=GES K (HMOLOI~A K 0tol)
60,000& = 3004 18,000
—CHatE s4t=6tEE X2 (UM O0tol 0l 4t
) 300,000& = 109H 3,000
09 SHALAHIXIE S 1,400 1,400 0
O8tE O 20 2sHE YA AHEH
5,000& * 20 « 23| 1,400
307 glz2tol & 12,000 12,000 0
11T AISI S XA E = 12,000 12,000 0
Ou oIE3 2HSIIAY 29 5,000,000& 5,000
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SN 008 0tS

i
M Ols - HAW P95 U AMSH
ool OlS AFSH X CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
028 208 24 4 NEC= =20
ol 7,000,000& 7,000
HElolY JIE s A} 35,000 35,000 0
307 2Iz2t0| A 35,000 35,000 0
04 SIZ2HSHAAISH E & 35,000 35,000 0
ONelole J1'388At 35,000,000 35,000
NEOsEESEEINH 29 19,112 19,362 A 250
J| 9,556
= 2,867
= 6,689
307 2iz2to| & 19,112 19,362 A 250
J| 9,556
= 2,867
= 6,689
10 MM SAANEEHESIGHEX 19,112 19,362 A 250
OltsEsdEI|& 29 X 19,112,000& 19,112
J| 9,556
& 2,867
= 6,689
ots4% X 2,707,253 2,333,236 374,017
= 1,895,077
= 243,653
= 568,523
201 et 9| 591 0 591
= 414
=} 53
= 124
01 AR 2t2l ] 591 0 591
Qlt=44 XXMAE =&Y (2EH|)
591,000& 591
= 414
o= 53
= 124
301 et M= 2,706,662 2,333,236 373,426
= 1,894,663
= 243,600
= 568,399
01 Al E& A 2523 2,706,662 2,333,236 373,426
Qots4¢ X (2,317Y) 2,706,662,000& 2,706,662
= 1,894,663
= 243,600
= 568,399
FUHE OlsSSEAMH A X 302,485 290,200 12,285
= 264,000
= 38,485
101 Q124 H| 165,205 153,778 11,427
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Lol 04 80t

e
N "PNE

=RF HaE 25 Y AMSH
@2 Ols HAEsHd XN
S HB B (SH) - NRAMY - BAS il
= 137,720
= 27,485
03 2INHA=Z2XNHE %= 165,205 153,778
O AEIEAY 165,205
-JlE2= 1,980,000& = 4% = 128 95,040
= 95,040
— 24 JEs ¥ =2 (2)
400,000& * 4™ * 12& 19,200
— N2tel e g
14,000& * 10AI2F = 4 * 12& 6,720
= 6,720
— WSsEIH L bl
200,000& * 4™ * 12& 9,600
= 9,600
—EIXNEZ 2,500,000& * 49 10,000
= 10,000
—4U28g=20012242)
250,000& = 128 * 49 12,000
= 12,000
— = &l 7,000 * 4% x 102 * 128 3,360
= 3,360
— I =4 250,000& * 49 1,000
= 1,000
— 9 E S| 2,071,180& = 49 8,285
201 B9 32,800 33,800
= 27,800
= 5,000
01 At 22l ] 12,800 14,800
Ogst=2H| 11,200
—CEARE 29 Y AMHlAa X
6,200,000 6,200
= 6,200
—cER L =s2EHH 5,000,000& 5,000
Od94+g (/s  8oAM,A#HHIAES)
1,600, 000& 1,600
= 1,600
02 3524l 4,000 4,000
OAlI& &Hl KXYl 2,000,000 2,000
= 2,000
(@OPNE=2=DNN:] 2,000,000& 2,000
= 2,000
03 A2 E H| 16,000 15,000
OESAEEANY #AIRYE HH| 16,000
— 1822 DI T 10,000,000& = 13| 10,000
= 10,000
— OtEME S #HAIEYE 2,000,000& * 33 6,000
= 6,000
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AN L 0otsS

M Ots - E2adE B3 & HEs4
& ots AL XN (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
301 LEHZ 98,480 91,622 6,858
= 98,480
01 A3l EE E 56l = 97,180 90, 122 7,058
OEEAEE SEAMHIA XA 97,180
—QIXl, A&, SX T2 294|
97,180,000& 97,180
= 97,180
09 HALAHIX &S 1,300 1,500 A 200
OEEAERE EAUEHN 1,300
—XNESAH IE S F&AL B4
10,0008 * 130 1,300
= 1,300
307 gl2tol & 5,000 10,000 25,000
01 =LA =4l 5,000 10,000 A5,000
Odzd & gzi& 5,000,000& 5,000
405 RHoHE S HI 1,000 1,000 0
01 AL EZFH S 1,000 1,000 0
OEEAHRE 23+7¢ 1,000,000 1,000
CENEsS A (22H) 121,872 113,232 8,640
= 50,376
< 25,188
= 46,308
101 1A dl 100,752 100,752 0
= 50,376
< 25,188
s 25,188
M4 JI2ZHZEXNSES 100,752 100,752 0
OUEH =M 2¢ 100,752,000& 100,752
= 50,376
< 25,188
= 25,188
201 L2l 19,120 12,480 6,640
01 At 2t 2l 15,520 12,480 3,040
Oger==8&H| 15,520
—Z20323 ¢ HMUAXE 13,520,000 13,520
—EE2SHE ¥ ulFY 2,000,000& 2,000
02 =224l 3,600 0 3,600
Oz22= & HMA 3,600
—&JeaZ S 3,600,000& 3,600
401 Al B2 2B 2,000 0 2,000
01 A& HI 2,000 0 2,000
OAl&HI 2,000
—SsdH &Il SA 2,000,000& 2,000
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el dots

P 0ts - 3ad B Y AES
D 0ls AMdsd N )
= - — SHE|
SN HH-S(BN) - MBAY - B e 2
NGotsE2sdEEZI2 23X 2,437 0 2,437
< 731
s 1,706
307 gl2tol & 2,437 0 2,437
< 731
s 1,706
10 Al S XAIEEHE2ZH 2,437 0 2,437
O XNY0tsEsd20|2 29 X
2,437,000 2,437
< 731
s 1,706
NGotsdy s K& 40,000 40,000 0
= 20,000
< 8,000
s 12,000
307 gl2tol & 40,000 40,000 0
= 20,000
< 8,000
[ia 12,000
10 AL SXAIEEHE2EH 2 40,000 40,000 0
OXlgotsdH &3) 40,000,000& 40,000
= 20,000
< 8,000
s 12,000
23E20s NHExE 28,800 21,671 7,129
= 23,040
< 1,728
s 4,032
301 LEAS 28,800 21,671 7,129
= 23,040
< 1,728
i 4,032
01 MEIBZE 253 28,800 21,671 7,129
OEs&=s0ts NE== 28,800,000 28,800
= 23,040
< 1,728
s 4,032
HY2IZH (=20 -0tS ) 46,264 42,560 3,704
28 (-l & ot=s ) 46,264 42,560 3,704
Jlddl (= o-ots ) 46,264 42,560 3,704
201 et 26,224 23,840 2,384
01 At 22l 26,224 23,840 2,384
Oget=&H| 400,000& = 229H 8,800
O=&Hl 6,000 = 229 = 11 » 12& 17,424
202 o4dl 13,200 12,000 1,200
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